[~
Qo
153
-
=4
<
o]
©
7z
=
=
=
i~
=
=
%]
=
prad
e
<
=4

ONGI

X
3N .
. % m
v | $ B
E ~ v ®
&b - = A
@ R\
J
==
\ %4
<_
puuewe | 18 00¢ 18001 18001 15001 13001 13 06 13 0§ 18 06 13001 1308
oy | woo |20 <0 20 20 10 10 10 20 €0
decgusem || son 90 | €O 0 0 0 10 10 (o 0 . £0
deog weg{] soNo9p | TO 0 20 20 10 10 10 20 €0
K880y | u3gozi | 4B00r | 48 00r | 180y | 4Boor | sBooz | 1800z | 4So0z | ‘Boor | 43009
a|pus) 90 20 z0 70 70 10 10 10 70 €0
PR | sxdgo | A0 | mdro | mdyo | wdro | wmdgo | mdgo | mdso | mdio Sl
fapmod YD | 1B ogr | 4S50S 18065 1508 1805 186z 156z 1Bz 12 0¢
12pMO,
L Ewwﬁ_mﬁ Bogr | 1808 B¢ 155 1805 1B Bz B¢z IS By
13pNOd PP | 3 os1 | 4808 18 08 1808 1505 B¢z Bz 1Bz 1508 8eL
. ueagekos | i ggg) 15 008 18 008 18 00¢ 13 00§ 13 05T 18 0st 18057 PRI 13 05L
uowQ | 18os1 | 45008 15008 1B00¢ | 18008 1Bosz | 1808z | 480sT | 45008 1805,
epleg | 480081 | 13005 13008 Soos | $So0s | 18pcz | J8ocz | 48057 | 18008 1805
~ g | Jgengy | B008 | 18 00¢ Bo0s | sBosz | Socz | sBose Bose |
- s o}
\_eal | 180051 | 1Boas | 4300S Bps | 480sz | 48osT | 180ST 1808t
MW | 45 ogl 15 00¢ 15 00% 13008 18 0% 13 05T 18 05T 1805t 18 00¢ 13 0L
1B oszz | ‘B 0sL 18052 1Bos, | 48ose | Boue | aSsrg | sBguc | Bose | Sezn
1ed | JSgotz | 4800 | 300L | aBoor | sSooc | Bose | sBose | sSose | Booe | 4Focol
eny | SEMST | sSyco | sSyco | SEMSO | s8MSO | 00S% 00ST | 00T | SBMSO | BgL
wdng | 1800¢1 | 43 p0g 13 00 18005 | 48005 | 480sz | 4Fosz | J8osz | 48q0s 18 08L
1 3 g 3 5 : 5 .
sy | T | o |y i SBM60 | 860 | 00SF 00S't | 00St | $BM 60 SEl
L e % %
= b5 o Ny N uN, . /
= - <8 T -] S 8= S _ e e b-.3
£ B "3 @82 |2 22| 2% | 2 (g2 | 2F | 22 -,
s | 23 | £3 | 23 | ®3 | 8% | 23 | £3 |25 | 23 | 43 e,
2 | ©2 TE 5z < oz P e 53 g 2 3
3 , 5 S @ = z ﬁ“\
&
N - . b
- / ™ 3/ -+ ) / O ~ ua/ / =) / Q




